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(@) Gustav is making some scones for his sister's birthday party.

Recipe to moke 12 zcones

450g self raising flour
2 teaspoons of baking powder
75g butter
5Og caster sugar

2 eqgs
225 m] milk

Bake at 428°F for 10 to 15 minutes

(i) How much self raising flour will Gustav need to make 30 scones?
Circle your answer. [

900g 10009 1100g 1125g 13504g

(i) Inthe recipe, the temperature of the oven is given in degrees Fahrenheit, F.
The temperature gauge on Gustav’s oven shows degrees Celsius, C.

The farmula below is used to convert Fahrenheit into Calsius.

aF—160

c=20=T0

9

At what temperature should Gustav bake the scones?
Give you answer in degrees Celsius. [2]

B



Well done — Full marks on a Grade C challenge question

You dropped marks because:




Markscheme

6(a)i) 1125 g B1
G{a)ii) 5 x 428 - 160 M1 | Meeds to show intention to calculate
9 =428
These answers imply M0, AD
» ({5428 -160)+9=) 58533
s (5428-160+9=) 541022
220 (°C) Al CAD




